Calcolare i seguenti integrali doppi:

Posto A = {(z,y) € R*:

Risposta: 0

—1<2<1,0<y< m2}, calcolare

// gd:vdy
x

A

Posto A = {(z,y) € R?

Risposta: 0

0<z<m e <y< e”}, calcolare

Posto A = {(z,y) € R?

Risposta: 2

10 <z <, log(l+az) <y <z}, calcolare

I sy

Posto A = {(z,y) € R?:

Risposta: 4

1<x<9, 0<y<e" %}, calcolare

seny
dxd
//f 1~ cos (ev=9)) "

Posto A = {(z,y) € R?

Risposta: 8

3 <z <5h, x3+1§y§x3+2},calcolare

Z/ 2y (Va3 +Z — Va3 + 1)dwdy

Posto A = {(z,y) € R?

ce<z<e? —logr<y< —1}, calcolare

Y1
// 761 o8t dxdy
el —x

A



Risposta: e?

Posto A = {(x,y) € R?

Risposta: —1

ce<z<e? —m/2<y< logr}, calcolare

/ / seny dudy
T COS bg w

Posto A = {(z,y) € R?

Risposta: 2e3

re<x<ed, x—1§y§x+1},calcolare

3y2logx
dxd
// x+1)3 —(x—1)3 vay

Posto A = {(z,y) € R?:

Risposta: 6

1<2<16, 1+sen’z <y< 2}, calcolare

Z/ 2,/7y(V2 —lm) dedy

Posto A = {(z,y) € R?

Risposta: 1/5

0<z <1, $+1§y§e”§},calcolare

4.y
xre
//ee””_ex—i-ldxdy

A

Posto A = {(z,y) € R?

Risposta: 0

r<z<2m e <y< 2695}, calcolare

COS T
// ylog2 dudy
A



